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;Qué numero hay en cada regalo?
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QUE HAY €D ¢L REGALO? (G) RESPUESTAS

;Qué numero hay en cada regalo?

170 + 10 = 17 18 + 3 = 6 323 + 19 = 17
76 + 19 = 4 12 + 4 = 3 96 + 16 = 6
45 + 15 = 3 221 + 13 = 17 117 =+ 13 = 9
72 + 9 = 8 380 =+ 19 = 20 36 + 6 = 6
36 + 2 = 18 8 + 4 = 2 160 + 10 = 16
240 + 12 |= 20 153 = 9 = 17 56 + 7 |= 8
70 = 5 |= 14 198 + 18 = 11 48 <+ 4 |= 12
70 + 10 |= 7 204 + 17 |= 12 180 = 9 |= 20
240 + 16 |= 15 13 + 1 = 13 285 +| 15 |= 19
72 =+ 12 = 6 119 = 17 = 7 102 = 6 |= 17
30 |+ 15 = 2 187 |+ 17 = 11 208 |+ 13 = 16
25 '+ 5 =5 180 |+ 10 = 18 132 1+ 12 = 11
36 '+ 12 = 3 12 |+ 6 = 2 110 =+ 11 = 10
144 |+ 18 = 8 48 '+ 3 = 16 12 |+ 1 = 12
91 |+ 7 = 13 133 |+ 19 = 7 76 |+ 4 = 19
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